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In class A amplifier, the collector

current flows
(A) In positive cycle of Input Sig-

nal
(B) In negative cycle of Input Sig-

nal
(C) In full cycle to Input Signal

(D) None of the above
Heat sink is made up of the mate-

rial which is :
(A) The good absorber of heat

(B)
(C)

The good emitter of heat
The good emitter and ab-

sorber of heat

None of the above

— -

1go o vy

(D)

Cascade amplifier consist of

(A) More than one amplifier

L(B) More than two amplifier

(C) More than th;'ee amplifier

(D) None of thelabove

The terminal acts as source in FET

(A) From which majority carrier
enter into the channel

(B) From wh-ich the majority car-
rier leave the channel

(C) Both (A) and (B)

(D) None of the above

Us-15172/S
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FE A vats ¥ SuRe O] gared

TR :

(A) RN R & oaAe FEad
- _

(B) R Red ¥ =TT e
s - N

(C) Preh Ruer & of o A

(D) IRKE & D T

o1 R & Sl &

(A) 397 % S HEAES v A
(B) 357 & S IS Tard d
P 3T 35 37 TS e vardt

q

(D) IR T J BE T

<rareh saeie ¥ A &

(A) 5 A Jfts sads

(B) & A s vat®

(C) & I 3t waeld

(D) IR ¥ D &l

FET @1 a8 cfifaa a & o1 &l &

(A) e & agee R 4 3
B B

(B) el ¥ TEHED Y T AR
e @

(C) 2Fl (A) T (B)

(D) IRG F B el

PuT-Oc
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For proper action of n-channel FET,

the voltage V__ is applied in such a

way that

(A) The source is positive than
drain

(B) The drain is positive than
source

(C) Both (A) and (B)

(D)

The width of depletion region is

None of above

more towards drain, because

(A} The voitage drop across drain
'S more

(B} The voitage drop across drain
1S less

(C) The voltage drop across drain
and source is equal

(B) None of the above

The full form of MOSFET is

(A} Multi oxide field effect ther-
mometer

(B) Metal oxide field effect tran-

SiStor

(C)

(D)

Any one

None of above

The characteristic curve of MOSFET
IS Just like

(A)

(B) Tetrode

Triode

(C; Pentode

(D) Transistor

US-15172/5

(4]

S.

-3 a e TR & 3 g

w14 & & fow fa V. 39 gaR

o & &

(A) §7 Tt 3 T D E

(B) e & e 37 T &

(C) 2t (A) 3R (B)

(D) IR ¥ B T

37 @ 3R JEET WA B I Sfire

gt & uif -

(A) 37 F 3R v fres &y 2

(B) $7 @ 3R fvaua a7 2w 2

(C) 3 3R ¥ B 3R Frvaurg wa
gran &

(D) IRE 3§ B 78

MOSFET &1 q31 17 #

(A) =t 3mmTss Bies s aidiey

(B) %ewr amevnss wis g cifimex

(C) o1 m®

(O) IR & 2% =

MOSFET & sfienefires am ey # -

(A) 7rarE ko

(B) 22% 3t

(C) 2w #hy

(D) A%t #a
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In an integrated circuit there are
(A) Many electronic circuits

(B) Many electrical circuits

(C) Many magnetic circuits

(D) All of the above

10. The linear IC, are used In:

11.

12.

(A) Operational amplifier
(B) Power amplifier

(C) Micro wave amplifier
(D) All of the above

SCR is device with:

(A) Two terminals

(B) Three terminals

(C) Four terminals

(D) None of the above
In unijunction transistor number of
bases is:

(A) One

(8) Two

(C) Three

(D) None of above

US-15172/S

(A) =% g ofea
(8) =% 4qq ofwn
(C) =% g oty
AD) IRRS a9

10. Y& v e = Joam fan &

(A) ¥ORS Tt F
(8) =fb wad=t &

(C) Tw a0 vadst &
(D) IRIs Wit

11. Referata Prafore Reardt 3 2

(A) 2 =
(8) A= e
(C) &R i
(D) FR¥E A B 7@

12. vaa §Fu oz ® 3R & J=m

e
(A) o=
(8) &
(C) a=
(D) IR X B TA

P.T.0.
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13. The ratio of thermal and electrical

14.

15.

16.

conductivities at a given

temperature is same for all metals

and is proportional to the absolute

temperature. This law is given by.

(A) Stefan

(B) Wiedmann Franz

(C) ). M, Early

(D) L. Esaky

Which of the following is correct at

room temperature in semi-

conductors?

(A) A partially filed conduction
band

(B) A partially filled valence band

(C) A very narrow energy gap be-
tween them

(O) All above

Ciode equation is .........

(A) 1 =1, (exp*™*T+1)

(B) 1=1, (exp®/T-1)

(C) 1 =1, (1- exp*¥/)

(D) I =1, exp®V/¥

The diode which can be used in re-

laxation oscillator, high speed
switching network and microwave
oscillator is

(A} Light emitting diode

(B) Photo diode

(C) Tunnei diode

(D) Point contact diode

US-15172/S
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16.
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(A) aiffers w1 e 88
(8) 3iif¥r w1 AL &
(C) 21 & &g GPo afsfa Faif &

_kD) IR 90
}/5, Az |utaRor @

(A) 1= 1, (exp®/T+1)
(B) I =1, (exp®/7-1)
(C) 1 =1, (1- exp®’")

(D) I =1, exp™*T

a2 3 3 fasnf Ao, e faga
Yarg Head v e a< aifer et W
yg<h fobar s wwa & -

(A) ¥HWI IS Fdls

(B) w&re SR

£C) GUH 31aE

(D) forg o sz
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18.

19.

20.
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A device used as temperature sen-

sors In electronic thermometers is

called

(A) Heat Sink

(B) Thermistor

(C) Junction diode

(D) LED

The tunnel diode has thickness of

depletion layer approximately
vererennaes Meters :

(A) 10x10°

(8) 1.0x10°°

(C) 0.1x1077

(D) 10x10°¢

Negative IC voltage regulator Is

(A) LM 78XX

(B) LM 79XX

(C) 7905

(D) Both (B) and (C)

Beta cut off ﬁﬁquency_of a given

transistor is always

(A) Greater than alfa cut off fre-

quency

(B) Less than alfa cut off frequency

(C) Equal to alfa cut off frequency

(D) Both (A) and (C)

Us-15172/s

17.

ﬁ:

19.

20.

ax ARV ;N o aaafat 3
e 7= (%) B Re wges B an
Ha &, wgear @

(A) am fém

(8) afieR

(C) Wi sl

(D) LED

T a7 A s W B HeE W]
3 Farvm gt @ -

(A) 10x10°

(B) 1.0x10°°

(2) 0.1x107

(D) 10x10°¢

HOTeTes vapa aRuer dreen o &
(A) LM 78XX

(B) M 79XX

(C) 7905

(D) (B) @ (C) 2wt

& giarex & e der wwrer amfa
o & 2 -

(A) ¥eE s gl st
(B) =B T e & I
(C) 3m! Wy FJf & R

(D) (A) 3 (C) 2rt
P.T.O.
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Heat sink are design so that

: |
(A) They are good conductors like
eTgeh e IIe® B &
metais (A) Bl AE =
(B) They absorb heat from tran- (8) ﬁiiﬁl!ﬁf § 35
.3
sistors &
qofE &7 7E@d
(C) They have large effective area (C) 3591 ST & fere &
for heat dissipation g
(D) All above (D) 3Iwes
22. In biasing techniques for BJT inte- 22. vdipa oRkwa Bt awafem faferdt 7 “oRT
grated circuits "Current Mirrors"” is adfor” weeTr & :
called. (A) Fga ur W
(A) Constant Current Source
(B) Widlar Current Source (B) WESER ONT-HId
C) Modified Widl
() ified Widlar Current Source (C) waraRe aTEETR R B
(D) Improved Current Source Cir-
cuit (D) F=a R i 9ROy
23. A power transistor working in class 23. T A F garicrd ot giore & I
A operation has zero signal power ferier R =ifeh &1 3r9aaa 10 arg grar 21
dissipation of 10 watts. If A.C. out- afe A.C. frfa afep 3 are & & gifdres
put power is 3 watt, power rating o1 wifs FrefRor & ‘
f transistor is - ‘
ot transistor is (A) 30 a2
(A) 30 Watts
(B) 10 g
(B) 10 watts
{C}) 0.3 Watts (C) 0.3 7
(D) Zero wWatts (D) g aw
US-15172
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26.

27.

28.
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The main advantage of integrated
circuit is

(A) Smaller weight and size

(B) Higher reliability

(C) Low cost

(D) Complicated circuit

The a.c. drain resistance of a JFET
with amplification factor of 84 and
trans conductance of 120 p Mho
1S

(A) 700 Q

(B) 700 K Q

(C) 700 M Q

(D) 700 G Q

Phase reversal is called

(A) 0° Phase difference

(B) 90° Phase difference

(C) 1807 Phase difference

(D) 360° Phase difference

A feedback circuit is

{A) Resistance

(B) Capacitor

(C) Inductance

(D) Both (A) and (C)

Monolithic technique is ideally suited
for fabricating ...........

(A) LinearIC_

(8) Digital IC,

(C) Thin fitm IC,

(D) Thick film ICS

US-15172/S

24. vdipa dRou & geg

(A) [& YR & HDR
(8) it frawriraa
(C) =5 Ia

(D) e e

. U JFET &1 W39 TUIT® 84 & e 3=4r0

Tl 120 FRP HR) R FEH a.c. 37
sferder &

(A) 700 0

(B) 700 K

(C) 700 M O

(D) 700 G ©

. AT IDW0] DEETAT ¢ -

(A) 07 TR
(B) 90" &emR

1€) 180° TR

(D) 360° =

. ooy ofwy @ @

(A) wfeRY
(B) dula
(C) W=
(D) (A) 3 (C) Rt

. Afifas aEts L Py &

fore e faftr & -

(A) Wirr odga oo

(B) 3ifd whiga IRTY
(C) vaat few v TRay
(D) =Y fbew vdRpa aRwy

P.T.O.
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29, SCRis one of the prominent mem-

32.

33.

ber of the
(A) Transistor family
(B) Diode family

(C) Thyristor family
(D) 1C family

IfV_ =200V and 8 =30° in an
SCR rectifier then V__is :
(A) 200V

(B) 119V

(C}y 300V

(D) 95V

. UJT can be used as

(A) Saw tooth wave generator

(B) Sine wave generator

(C) Amplifier

(D) All above

VWhich is incorrect in photo transis-

tor

(A} High leve! of gain

(B) Good high frequency response

(C) Different characteristics under
different light intensities

(D} Dark current flow

2N6027 is a

(R) Complementary unijunction
transistor

(B) Conventional unijunction tran-

sistor
{(C) Metal oxide field effect transistor
(D) Photo transistor

US-15172/s

[10]

30.

31.

32.

33.

(D) T ey aRER

ow SCR ¥ afe v =200 @I &

g, =300@@ V2 :

(A) 200 dIT

(B) 119 A=

(C) 300 arT

(D) 95 AT

UIT @ v foar s w@ar 2 o

(A) FRER aR7 3RS

(B) TN & IARH

(C) vatle

(D) IRIE T

FEBTHT SiioreR B Sl B T AE & -

(A) JoT wKig o

(B) a3rel Jea smgfr arfean

(C) Fea v fgen & fir aifirereror
dh

(D) 3Ed aRT JaR

2N6027 2 v& -

(A) & oo wfe giorex

(B) Rma wfe Zifsrex

(C) tnfeass siawmzs &3 gurg
g

(D) vare gifsmes
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34. The zero signal power dissipation

35.

36.

37.

for class A amplifier is 9.2 W, If the
a.c output power is 4.4W, the col-
lector efficiency is

(A) 29.9%

(B) 40.5%

(C) 44%

(D) 47.8%

Relation between Alfa cut off fre-
quency and Beta cut off frequency

[
(A) fu=
(B) fo=

(C) .=
(D) 1, =afy
Relation between o, p and vis

W= 8 pY =

A v-2

(8 =t

Y

a
(C) 1=

(D) "'-f.j

Commercial thermistors are made
of sintered mixture of

(A) Mn,0,NiO, and Co,0,

(8) Mn,0,2n0, and Co,0,

(C) Mn,0,CdS and ZnO

(D) Cd Zn S NiO, and Co,0,

Us-15172/8

(11)

34.

& A gads § g feer w afsew

g2t acRfauRs 44 ® @

35.

36.

37.

IS TH Bl
(A) 29.9%

 (B) 40.5%

(C) 44%
(D) 47.8%
He R gy aur @ we

Fgferat f wau 2
(A)

fs =

£ ia-" ‘Cﬂln‘“

(B)

(€)

a

(D) B=1—7

aftvsa afies o fde o o« m R
30 Ry g 2

(A) Mn,0,NiO, 3R Co,0,

(B) Mn,0,Zn0, 3R Co,0,

(C) Mn,0,CdS 3R ZnO

(D) Cd Zn S NiO, 3R Co,0,
P.T.O.
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Reverse saturated current in silicon
junction nearly double for every :
(a) 57 C rise in temperature

(8) 10° C nse in temperature

(C) 5 C decrease in temperature
(D)} 107 C decrease in temperature
which of the following diode is used
for detecting light signals?

Photo diode

LED

(A)
(8)
)
(D) Tunnel diode

In forward biasing a diode appears

Zener diode

as a https://www.ccsustudy.com
(A} Open Switch

(8! Close Switch

(C) Capacitor

(D) Ahigh resistance

. Determine the current through the

resistance R of the circuit when two
similar diode are connected as
shown in figure. (assume no volt-
age drop across the diode)

.

400 !

.

Y EYIVYYY,
2V

(B) 0.01 A
(D) 0.5A

(A) 0.05 A
(C) 0.1 4

[12]

38, ffts wfu 3 EF IP@ ORI &
mma’(@@lmiim
(A) TU R 5°CH FE A
) A 10°C & & &
T (C) mASCH A
(D) @ ¥ 10°C H T &
e # ¥ 8 W 3 v e &
Tgea A wan fsn st @
(A) WY IR
(B) LED
(C) IR @B
(D) ™ 3T
3 e o 2 & S 2 6
(A) gem R
_AB) < Raw
(C) Wz
(D) 3= dferrm
41. 5@ A vF A IR B feorEr e
srar @ ot oferie R & g @ (T
s ¥ o favagaT 78 2 -
’--—{3*-——43>
400
Lhwwmw «I;L

2V

39.

40.

{A) 0.05 thur
(B) 0.01 dfigg
(C) 0.1 dfigme
(D) 0.5 tfapex
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43I

45.
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For red light In LED's the Material
used Is

(A) GaP

(B) Ga As

(C) GaAIN

(D) Ga As P

Tunnel diode was first developed

(A} ). S.Kilby

(8) L. Esaky

(C) Anderson

(D) Schottky

Power gain in transistor is maxi-
mum in the configuration

(A) CB

(B) CE

(C) €C

(D) All above

The current gain a is 0.98 for a tran-

sistor. In CE mode if the base cur- :

rent is 100 pA, then collector cur-
rent will be :

(A) 98 pA

(B) 0.98 A

(C) 49 mA

(D) S mA

Us-15172/s

42,

n43.

45.

LED # ™™t 1 W@ a3 ¥ Re Wy
e & :

(A) GaPp

(B) Ga As

(C) GaAIN

(D) GaAsP

HdwH qOF A . A
-

(A) ou il

/(5) oo s

(C) =3 H
(D) v

. ¥oreR 3 afteem wits o & R

¢

(A) 3RS FUR

(B) IwaF RS

(C) s T

(D) ¥Rs v

o ey & fow o)1 v o & 7

,0.98 &1 o Jeustes Rmarw & Rk

FUR GRT 100 1 A & T TIES 4RT
2 -

(A) 98 "M ehwaR

(B) 0.98 7R iR

¢C) +.9 firht eieR

(D) 5 frd oo

P.T.0O.
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46. Reverse Voltage gain of a transis-

47.

48.

49,

toris:

(A) hy,

(8) h,;

(C) h.,

(0) h,,

In tunnel diode if forward voltage is
increased beyond a value at which
current is maximum, Current de-
creases and reach a minimum value
known as

(A) Dark Current

(B) Saturation Current

(C) Valiey Current

(B) Leakage Current

In common emitter, current ampli-
fication factor is

(A) 1

(B) Less than 1

(C) More than 1

(D) Zero

For common base transistor circuit
1.=0.96 mAand I, = 0.02 mA. Cur-
rent amplification factor is :

(A) 0.48

(B) 0.96

(C) 1.92

(D) 0.97

US-15172/S

46.

47.

48.

49.

ﬁmmaﬁmm%‘:

(A) hyy

(B) hy,

(C) hyy

(D) h,,

T s A e died 91 T
P 1 i R w1 aiftran 2l 2,
3 3 agrar I & FE ORI 3T A
H A uC T 21 37 URT B BEd &
(A) HEE ar

(B) HF@ URI

f_[C) e O

(D) &RvTarRT

v I oo § arT yats
o g d

(A) 1

(B) 1979

(C) 13w

(D) T

afe 3R e # 1 = 0.96
foreht R 1 1, = 0.02 Fyett e
&1 o &1 Gry yad 2
(A) 0.48

(B) 0.96

(C)

(D) 0.97

1.92
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50. Base spreading resistance is the dc

51.

52.

53.

OhmMIC resistance of hase region of
transistor through which the base

current flows. Typically it has a value
between.

(A) 500 2nd 1500 n

(B) S0 and 150 @

(C) Sand 15O

(D) 0.5and1.50

In common base amplifier phase
difference between input and out-
put signalis :

(A) 180Q°

(B) 270°

(C) 90°

(D) 0°

In RC coupled amplifier at low fre-
quency (< SO Hz) the gain de-
creases with decreasing frequency
due to

(A) Coupling Capacitor

(B) Bypass Capacitor

(C) Input Ca'pacitcr

(D) Both (A) and (B)

Which of the following is not suit-
able for cascading :

(A) Common base

(8) Common emitter

(C) Common collector

(D} None of these

Us-15172/$

50.

IR R AR ZHae’ ¥ 3R B
3 a7 & de A ofedio 2 o
IR o safed Bt &1 sw by
i

(A) 500 F 1500 Q & &g

_18) 50 ¥ 150 O & A

(C) 52150 ® &g
(D) 053 1.5 0 & &

51, e R sadE § PR e

(15]

52.

53.

Frfra iz s am
(A 180°

(B) 270°

(C) 90°

(D) 0°

RC gftya wads 4 = smgfy
(< S0 Hz) R @™ 3 TN = IR
:. _

(A) gom T

(B) umdl e

(C) PR duRa

(D) (A) 3 (B) 2R

fr ftsfaral 3 S agmor S R
Iges 7@ & :

(A) Wafs U

(8) vafrs IR

(C) 3IVass A&

(D) IRwE & A B TH
P.T.0.
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54. If A is the gain of the amplifier and
A is gain with negative feedback,

then A, is

(A A1°1,pa

A
(8) Ar=1Tpa
(€ A= pay

B
(®) Ar=1_%

55. Qutput impedance of an emitter
follower is

(A) Zero

(B) Very low

(C) Very high

(D) Infinite

56. Bond width of an amplifier is that
band of frequencies for which the
voltage gain falls to its maximum
value by

(A) 30db

(B) 3db

(C) 10 db

(D) 20 db

57. Which of the following is most suit-
able for impedance matching :

(A) R-C coupled amplifier

(B) L-C coupled amplifier

(C) Emitter follower

(D) Push pull amplifier
US-15172/S

o s 7 T A & 7 AT

a.
g/?ﬁamasmamﬁ.f%ﬁﬂm:
9
A

® =17

A -
A=

1+BA

55.

(D) 3a
yatis & 3z dig afai mar ds @
fored fow swat deear e siftaan

56.

..........

(D) 20 3RmEe

P i A S eftvamen e i e et
TG 8 -

(A) R-C gm7 gt

(B) L-C 7o matie

(C) It I

(D) TNA watls

57.

[16]
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When a Covalent bond breaks and
an electron move away,
cancy created is called
(A) Cavity

(B) Oven

(C) Hole

(D) Free space

the va-

which of the following is a com-
pound semiconductor

(A) CdS

(B) PbS

(C) Ga As

(D) All above

Zener break down with respect to
avalanche break down occur at
(A) Low Voltage

(B) High Voltage

(C) Low Temperature

(D) High Temperature

In which of the following circuit, po-

tential across the two dicde is same

(A)
S
_]q N
(B) L
4“
N
(C)l ?l L
|

(D) Same for all

Us-15172/S

/58,

L-r“/

i DI VEHAAS FY Tl & o Jadg=
oot #R @R &) e @1 &9 el R
o TS &

(A) e

(B) wg!

/’Le)'fﬁ’lz?

@?

(D) HtE ADHI
ﬁwﬁﬁqﬁﬁamm%
(A) CdS

(B) PbS

i€y Ga As

&

(D) TRIS I
IR VT tam'i‘lma?famnélm

B

/(A)ma\mm

61.

17]

(B) I dredl W .
(C) W AT R

(D) oiftis dW | .

e % ¥ Rewr aRuy ¥ 291 e w

R ww

(B)
=
(C) ‘"D——D’—
___|;
(D) T ¥ FHE

P.T.O.

https://www.ccsustudy.com



https://www.ccsustudy.com

62. Inthe circuit, Zener diode is used
(A) Forward biasing
(B) Reverse biasing
(C) Series with load resistance
(D) Without input voltage

63. In a transistor if o = 0.9, p will be (5
equal to '
(A) 1.0
(B) 0.09
(C) 0.90
(D) 9.0

64. Conductance in a common base

mode is @ and in commeon emit-
.

ter mode is g then
oF

(A) 9ea > 9eg

65. The Input resistance of a JFET
idealy
(A) Approaches infinity
{B) Approaches zero
(C) Zero
(D) Very low

66. Three parameter of FET are 66.

(A) ;jf ID! VD:‘
(B) ry m, Voo
(C) n ry 9y

(D), Gus Vo
US-15172/S [18]

64.

65.

(C) we e & Aot W A
(D) famr PRt el &

j/mﬁmﬁaﬁwo.g%aﬁﬁﬁ

[ 2N
(A) 1.0
(B) 0.09
(C) 0.80

(D) 9.0

e R e 3 e @t
AT g, & TN IHAAS IHAD
R @ e g & @@

(A) 9eg ™ 9ce

(B) Gy < Oce

(C) 9eg = Y&

(D) (B) 3 (C)

IFET @1 Hed wa & wfeer | & -
(A) 3F a® Tgaar &

(B) ¥ T TgT &

(C) ¥«

(D) @&d &9

FET & o= grarer & -

(A) m In, Vi

(B) g Vpo

(€) s Tgr Oy

(O) w9y, Vg,

https://www.ccsustudy.com
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67. If the power of an amplifier be-

68.

69.

70.

71.

comes half, Its gain in decibel falls
(A) 0.5 db

(B) 2db

(C) 10 db

(D) 3db

An Integrated circuit consist of :

(A) Active component

(B) Passive component

(C) Both active and passive com-
ponent

(D) Nothing but transistors

The output of a UIT can be taken
from its :

(A) Base 1

{(B) Base 2

(C) Emitter

(D) Any one of three terminals

In photo transistors to generate
electron-hole pair, light should be
entered in

(A) Emitter region

(B) Collector region

(C) Base region

(D) Inany region

The tunnal diode has thickness of
depletion layer approximately

(A) 1.0x107° m

(B) 1.0x10° m

(C) 0.1x107 m

(D) 8.1x10™* m

us-15172/S

67. afe & vatts 3 wfes amed 2 v 3

68.

69.

70.

7L,

(A) 0.5 2w
(B) 2 zfgd=
(C} 10 3=
(D) 3 2w
(A) d%a gzm
(B) #Ez gzs
(C) sfn 7 3fEa 25 wos

(D) TFRT & zemar oo &

UIT & B Bw 2T = R
Wb 2

(A) IR

(B) IMR 2

(C) FT=i®

(D) AN AT FTHE WA

BIRY TR F T =-Be g I
T B 0 o B9 &3 ¥ 9@ &=
ofee -

(A) 3D

(B) TS &7

(C) FmR &F

(D) TR MR

JOH TS | 3T R B HIEHE T
g 2

(A) 1.0x10°3 =Y,

(B) 1.0x107 #.

(C) 0.1x1077 4t

(D) 8.1x10°% .
P.T.0.

https://www.ccsustudy.com



22. The critical wave length of

73.

photo

conductor is given by

A

CE,

he

EU

Eg

(©) %

(D) hcE,

White light in LED is created using

(A)

(8)

multiple colours are -
(A) Red + Green
(B) Blue + Yellow
(C) Red + Blue

(D) Red + Yellow

74. Typical value of transition capaci-
tance C. for a junction is
(A) 4 PF
(8) 0.4 PF
(C) 40 PF
(D) 4 uF
75. Wiedmann-Franz law is : (If K is
thermal and ¢ is electrical conduc-
tivity )
(A) %= Constant
(B) X . Constant
aT
(C) 2~ Constant
(D) Kl= Constant
i ]
UsS-15172/S

S ‘.

(A) Cg,
hc
0{3) -é:——ﬁ
-~ €,
P
(D) he E9
73. Lsoﬁm@aﬁmm?ﬂe‘*

ﬁm%q@ﬁﬁﬁaﬁi&%;
(A) et + BT

--’(B) Hrer + e

(C) & + el

(D) T + dren

Py ey B <igor EnRar C. 31 G

I ST 8 -

(A) 4 R T

(B) 0.4 fapr BT

(C) 40 frdr BRE

(D) 4 AEH s

fasi=-ter w1 Fram & -

(K 3877 averbal AR o faga et 8)

74.

75.

(A) %=ﬁma1'as
(8) — - Praies
(C) 2= Fraia

T .
(D) Kq"-ﬁm?ﬂﬁi

{20]
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76. Silicon is preferred over Germanium 76. wifram & aen Fafore™ o e &
because . Tt vl
(A) High Mabllity of electrons (A T #W i 2
(B) High Mobility of holes - S b .
(C) Leakage current is less than (B) e & awrs Ats A @

Germanium (C) oy o frm ¥ W A E

(D) All above (D) 3AH T

77. The difference of potential from one 77. W SR & 2t AR 3 vl o7
side of the barrier to other side is T &
called https://www.ccsustudy.com (A) Fasmrr
(A) Potential difference (8) R & Fard

(B) Height of barrier

(C) Length of barrier

(D) All above (D) TR TR
78. Cat's Whisker is a wire of : 78. ScfE@R AR 2 *
(A) Tungeston (A) TTRRA &N
(B) Sliver or Platinum (B) & a1 AT B
(C) Copper and Zink (C) dfa a 5> &
(D) Phosphof bronze or Gold (D) TRt B 4t /R &1
79. For visible displays in calculator, 79. dergdex, ©F Mk § Fifes W B
phones etc visible radiations pro- fore Txa Rt o 3w =% F foe
duced by ST AT # ¢
(A) Photo dlode (A) TR SES
(B) Photo Cell’ (B8) "N I
(C) LED _{C) TE IAANS SRS
(D). Battery (D) dn
US-15172/S 21}

P.T.O.
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80. As reverse bias across the collec-

81.

82.

83.

tor-base junction increases, the
width of the collector-base deple-
tion layer increases and the effec-
tive width of base decreases. This
is called.

(A) Tunnel effect

(B) Early effect

(C) Zeeman effect

(D) Schottky barrier

Which of the following is analogous
to common emitter bipolar transis-
tor amplifier

(A) The enhancement MOSFET
(B) The deplebion MOSFET

(C) Common Source FET amplifier
(D) Operational amplifier

In a power amplifier A.C. output
power is 0.1 watt, V. = 20 Volt
and I_= 20 mA. Its efficiency will
be

(A) 50%
(C) 40%

(B) 20%

(D) 25%

A P-N junction has a thickness of
the order of

(A) 1 cm.

(B) 1 m.m.

(C) 10°% c.m.

(D} 107" c.m.

Us-15172/s

go. WD AHN

81.

82.

83.

afm T SR-IT I5PR
aﬁmmm?.wimﬂﬁﬂ
ﬁmmmﬁma@aﬁ%a‘m
maﬁmﬂ'&mmﬁ%]ﬁ
o B FEd §

(A) FETT

(B) 3R ¥H@

(C) M T

(D) Fhedt FER _
Prer ¥ B Twgfe IO 09
SRR & Qe @7

(A) dgfg MOSFET

(B) @& MOSFET

(C) Iwafrs W FET mAt®

(D) wirarere Tat®

s i wats § AC frfa @i 0.1
arK &, V. = 20 de a1, = 20
fireh ot &1 gt aer @il -

(A} 50% (B) 20%

(C) 40% (D) 25%

v P-N i @ AR A BT 7
(A) 1 9.9

(8) 1 &7

(C) 10° 1A

(D) 10" A7

https://www.ccsustudy.com



84.

85.

B6.

87.

88.
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Light can pe dete&ed us
Verse biaseqd p.

known as

(A) Photo diode

ing a re.
N junction gioge

(B) -Lightemitting diode
(C) Point Contact digde
(D) Tunnel dioge

In photo transistor the base cyr-
rent (I

)is directly Proportional to
the

(A) Lightintensijty
(B) (Light intensityy2
(C) (Light intensity)-!

(D) (Light intensity)-2
A SCR behave as 3 :

"~ {A) Unidirectional Switch

(B) Bidirectional Switch
(C) Mechanical Switch
(D) All above

An ISMPS is

(A) Amplifier

(B) Rectifier |

(C) Invertor

(D) Power Supply
Reverse saturation current of Sili-
con is

(A} 2 pAto 15 pA

(B) 1 Ato5SA

(C) D.0LpAto 1 pA
(D) 0.01 mAto 2 mA

US-15172/S

(21

84,

85.

86.

87.

88B.

SEIT PT FYE dRA & fore Tomw s

P-N war 3rdie & wan fsar 5 2 @
-

(A) DRz

(B) Wt TSI SR

(C) firg W raiie

(D} FWm wirs

WIS SRR & R ORT WA
e

(A) W e

(B) (ware Sy’

(C) (v e’

(D) (yrar Agram)

UF SCR & T oK a4 ¢ -
(A) v fifr Rew

(B) & fefere Raw
(C) afas faa

(D) IRKS Tl

SMPS & Ta :
(A) wadd

_4B) feeart B

(C) yad®

(D) ¥ifte WROT

et o e i e A 2 -

(A) 2 aE@ oRaR ¥ 15 A ehaR

(8) 1 fivaR § 5 o

(C) 0.01 WR! ThawR R} 1 FEH
o |

(D) 0.01 fireht effrar ¥ 2 fieht e

P¢14 D ®
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89. The ability of power transistor to
dissipate heat is known as

(A) Heat absorption capability
(B) Power dissipation capability
(C) Coliector efficiency

(D) Frequency response

A Solar Cell converts

(A)

90.

Electrical energy to Solar en-
ergy

(B) Electrical energy to Mechani-
cal energy

(C) Electrical energy to Heat en-
ergy

(D) Solar energy to Electrical en-
ergy

31. In Voltage follower there is :
(A) Unity gain

(B) Infinte gain

(C) Zero gain

(D) None of above

92. The diffusion of holes in P-N junc-
tion takes place :

(A) From P to N region

(B) From N to P region

(C) Both (A) and (8B)

(D) None of the above

us-15172/S

89. mﬁsmaﬁﬂwﬁ et T

e ¥
(A) T r@eiraor &l
(B) Wfes U@ Al
(C) RS &

(D) wmgfer sryfeman

90. UE Wi A T €

(A) dega Tt @ AR A W
(B) & 3ot @ afad I A
(C) g it & 3o S H

(D) w3 @ dgE 3t O

v et Sl A @
(A) THIH TH

91.

(B) 3F= @™
(C) = o
(D) IR A P el

[y/g. P-N ufe & B o fawror T @ -
) PN & B FR
(B) NJ P &F B IR
(C) @F (A) T (B)

(D) IRIE Y I BB T

[24]
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(€) Rectifying Junctign

(D) None of aboye

94. At OK temperatyre the conductiv-

ity of intrinsic semi

(A) Zero

~conductor is

(B) Infinity

(C) Oto

(D) None of the above
85. In n-p-n transistor P is

(A) Emitter

(B) Base

(C) Collector

{D) None of the above

96. The direction of current in p-n-p

transistor is

(A) Base to emitter
{B) Emitter to base
(C) Base to Collector

(D) None of the above

US-15172/S

93, 3rh wd # -
(A) sremems-ardarers whu
(B) wgows-ug sy
(C) o wPa

(D) TR R A B 78

g]quwam R IR FLARE B AAGN
T o

PoA S
(B) =
(C) a3
(D) TS ¥ A B &
&mp—rﬁ;ﬁlﬁ'{ﬁl’?
(A) ¥D
B R
(C) WD
(D) IRwE % A B 7
(ﬁ/ﬁxp-n-p v 3 oy 2 e @ 2.

o e r—

(A) mﬂgm_&fﬂg‘@ﬂ
/gafﬁém%maﬁtsﬂ'{
(C) R | FWED Bl AN

(D) 3 | | B W

[25) P.T.O.
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97. For a transistor current gain g =

0.98 and base current is 10 pA,

_ 0.98 @l
B o g - 0997
3R i 10 ArE) oRaaR & T

then emitter current will be: \ ;: urRr A Je
o
(A) 490 A .o?)(' ) m \+ 1) 490 T CRATR
B) 500 A 5?‘3) 500 AEPY O
( ) K ( c]‘\ (‘\’f '.0
3E) = 2,-(C) 9.8 ! efia
(C) 9.8 nA kot)(n"
(D) None of the above o0 (D) s § B TN
JE - 3
98. Life time of electron is 98. Feiagi @ S B gl
(A) Time period from creation to ( /) ma@ﬁ#ﬁm%“qﬁqaﬁﬁm
recombination with the hole |9
(B) Time period by the electron to (B) It ¥ MR ad e # feran
reach collector from the base ' ZIl
(C) Time iod by the electron t ™
period by the electron to i o 5
(C) 3cusi ¥ HuTee ad g A foran
reach collector from the emit-
a1 §7g
ter
(D) All of the above (D) IwH FHl
99. For faithful amplification, necessary 99. feawirg waelw & forw smavas ghaew
conditions are g:

(A) Proper zero signal collector

current
(B) Proper zero minimum base
emitter junction voltage
(C) Proper zero minimum collec-
tor emitter junction voltage
(D) All of the above
Emitter bias is also called :
(A) Self bias
(B) Voltage divider bias
(C) Both (A) and (B)

(D) None of the above

100.

US-15172/s

(A) 3hua = Fe suRs aRT

B) =W 39 3meR-3xwET® AR

(€) wﬁammaﬁm
oD Bﬁ?ﬁm?r

100.3:%515 AARY 3 ey &
(A) & IRERY
(B) dieea fasmar simfy
(C) &t (A) T (B)
(D) IR & 1§ &
[26]
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